41
411
41
%5 (U5 %5 (L)
25
)
41
()
oD 216
25-0D 1878
L.25:0D 31.88
B-U25-0D 1421
B-L25-0D 16,63
D= U%= 25 ,LB= B  B-=
4.1.2
42 41

(control)



2
42
oD
()

0 1397
5 3691
10 33.73
15 31.20
D= UB=

25-0D

4397
31.93
26.78
25.10

,L25 =

L.25-0D

43.97
34.75
31.56
26.81

, B

42

(tensile index, N-m/g)

4.2
1
25
B-U2%-0D  B-L25-0D
43.97 4397
30.77 33.66
28.74 32.92
24.80 26.23



| |
S =) !
. E é
z | —&—25-0D
g | —— (25-0D
% & —— e-uzs—oog
g 15 - { i
k) —— B-L25-0D
10 g
5
0 T T
0 5 10 15 20
% nAINNUAIULUAS
*OD = Uxn= 2 LB= B | B=
41 (N-m/g)
4.2
413
4.3 4.3

25

43



25

25
4.3 (tear index, -1 29)
%
oD 25-0D [25-00  B-U2-0D  B-L25-OD

0 5.70 5.10 5.70 510 570
5 5.71 6.19 5.46 1.03 5.71
10 6.02 5.22 5.2 1.00 5.79
15 551 5.06 5.09 540 5.88

*0D = , 2= 25 L= 2 |B=



0 5 10 15 20

% NINNUAULNAS

I :
=, e e ® oD
o L ~N
! £ m —&— 25-0D
P 2 5 - |
L T4 | =t 25-0D
I 54 ?
£ v | ==X = B.U25-0D !
— 2 | H
8 I | f
= ¥ | =@ —B.125-0D |
H 1
O } T ] — 1 1

OD = LW, U25 = 11 25 14, L25 = 874 25 14, B = finn

43 ()

42

42.1

4211  alkalinity

44 akalinity

alkalinity

4212
44



(NH)

CHPT

(CHPT)

46



44

native St
cat St 1%CHPT 0.11
cat St 2%CHPT 0.206
cat St 5%CHPT 0.24
cat St 8%CHPT 0.27
am St 1% CHPT 0.22
am St 2%CHPT 0.106
am St 5%CHPT 0.17
am St 8%CHPT 0.35
CR
cat CR 19%CHPT
cat CR 2%CHPT
cat CR 5%CHPT
cat CR 8%CHPT
am CR 1% CHPT
am CR 2%CHPT
am CR 5%CHPT
am CR 8%CHPT
*hound

total

cat , am

S , CR

native

DS

%CHPT

O O O O O o o o \

bound

0.033
0.05
0.15
0.29
0.02
0.07
0.15
0.36

0.21
0.23
0.25
032
0.292
0.299
0.33
041

(

)

total

0.083
0.1
0.22
0.32
0.06
0.12
0.26
0.44

0.26
0.33
0.48
0.62
0.338
0.388
0.59
0.777

total

245
197
24
2.39

5.61
6.25
4,07
3.86

bound

0.12
0.4
0.17
0.2

2.94

2.94
3.04

A1



48

4213
44 1,000

[20]




45 ()

SEM 100

25

45 ()

45 ()

45 ()

49

200

200
00 ( 45()

1,000



50

2
£t

4.5

X100

X200

()

X200

000

X1



5l

46 ()

46 ()

46()

X200

X750

X200



1

371.142.04, 37.25+0.49, 36.39+1.33  36.48+1.34 N-m/g
CHPT 2

52

4.2.2 (tensile strength)
4221
45 4.1
4.6 48
l 1
( ) 2
(flocculation)
( .
-2- ) (CHPT)
CHPT
1,25 8 12
15 35.96+0.76, 37.19+2.61136.43+1.01 34.74+1.33 N-mlg
CHPT 2 2
CHPT 1,25 8
31,05 3
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45 (tensile index, N-m/g)
CHPT

(tensile index, N-m/g) +
1% CHPT 2% CHPT 5% CHPT 8% CHPT native
0 33.85+ 199 33.85+ 1.99 33.85+ 1.99 33.85+ 1.99 33.85+ 1.99
050  3541+141 3433+131 35.78+0.38 32.16+2.15 32.24+1.76
1 H96+0.76  34.78+1.02  3643+101 34.41+091  34.87+1.05
15 34.20+1.20 3484+061  348+0.76  34.74+133  32.44+1.95
2 34.87+0.83 (37.19+2.6T) 33.54+0.81 33.47+0.82  32.93+3.58
3 3391+1.33  335+09  3577+2.08 3354+1.07 32.61+2.19
* native

%

% CHPT INNZ )
|
oy * |
C R | —— 1%CHPT|
E |
S - ‘
: = i 2% CHPT.
S 20 !
= | A 5%CHPT|
= 18 : ol
5 | —e— gucHPT
2 10 il il HP
5 ? —¥— Native
0 - T T T T
0 05 1 15 2 25 3 35
% starch on pulp
47 (tensile index, N-m/g)

CHPT ()
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4.6 (tensile index, N-m/g)
CHPT

(tensile index, N-mlg) £
1% CHPT 2% CHPT  S%CHPT 8% CHPT native
0 33.85+ 199 33.85+1.99 33.85+1.99 33.85+ 199 33.85+1.99
050  34.85+1.37 36.16+145 36.39+1.33 3557+0.33  32.24+1.76
1 35.28+1.26 (N7.25M49) 34.83+155 33.97+1.70  34.87+1.05
15 36.79+2.33  36.02+0.93  32.46+1.94  34.66+1.17  32.44+1.95
2 36.29+1.29  35.27+1.63  34.4+1.17  36.0140.99  32.93+3.58
3 37.142.04  36.93+331  3421+116 36.48+1.34  32.61+2.19
* native

%

% CHPT 7 INNE )
37.25+0.49
40 /
= ‘ |
o —— 1%CHPT |
. E |
Z 25 | ——8—2%CHPT|
8 20 ' ;
e | & 5%CHPT§
@ | ——®— 89%CHPT|
g 10 UERCITV——— 3
5 %—-)l(—'Native :
0 1 | e =T 3
0 0.5 1 15 2 25 3 3.5
% starch on pulp
48 (tensile index, N-m/g)

CHPT ()



4222

4.1 49
48

32.59+1.45,33.73+1.91,30.06+2.99
CHPT 2

31.89+1.68, 31.81+0.75, 33.98+1.28

0.5

0.5

4.10

CHT 1,25
05,151
29.34+1.44 N-mlg
15

CHPT 1,25
0.5
34.22+0.51 N-mlg
CHPT 5

CHPT

8

0.5

8

8

55
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44

4.7 (tensile index, N-m/g)
CHPT

(tensile index, N-m/g) + SD
1% CHPT ~ 2% CHPT ~ 5% CHPT 8% CHPT CR
0 33.85+ 1.99 33.85+ 199 33.85+199 33.85+1.99  33.85+1.99
050  3259+1.45 3L.18+153 29.85+2.23 29.34+1.44  28.24+2.34
1 2955+2.39  3157+1.88 30.06+2.99 27.83+0.92  25.5+1.92
15 29051+1.46 Ca33.73+1.0T)127.23+2.46  27.91+1.27  26.44+0.47
2 28.03+1.14  29.33+2.72  26.43+0.85 27.05+1.05  25.3+1.08
3 26.03+1.02  25.6+2.10  24.34+1.14 2657+1.22  22.21+0.79
*CR
% CHPT (- -2 )

%



40

tensile index (Nm/g)

33.73 1191

" >»

5/

- 1% CHPT

-2%CHPT

FfcHer
15
o
& —  cr
0 -+ T
0.5 15 2 25 3.9
% starch on pulp
4.9 (tensile index, N-m/g)
CHPT ()
4.8 (tensile index, N-m/g)
CHPT
" (tensile index, N-m/g) i SD
1%CHPT 2% CHPT 5% CHPT 8% CHPT CR
0 33.85+ 199 33.85+ 199 33.85+ 199 33.85+1.99  33.85+1.99
0.50 31.89+1.68 31.81+0.75  33.98+1.28 C34.22+0.+t> 28.24+2.34
1 29.11+41.60  23.18+1.90 32.16+0.89  32.65+1.27  25.50+1.92
15 28.62+1.14  27.39+0.47  29.89+2.62  31.91+1.02  26.44+0.47
2 28.16+1.07  29.3+0.78 29.74+1  31.22+40.63  25.3+1.08
3 26.3+0.93 26414125 28.53+1.16  30.33+147  22.21+0.79
*CR
% CHPT (- -2 )



34.22 £ 0.51

58

“k
o —,— — — —

j |
| ———— 1%CHPT

= 80
E | .
i £ % l B 2%CHPT,
8 - |
= | A 5%CHPT,
% 15 R ‘
l § 10 [ BOCHPT
5 | :+CR
0 li 1Bl T T 1
0 0.5 1 1.9 2 25 3 35
| % starch on pulp
I
4.10 (tensile index, N-m/g)
CHPT ] ()
423 (tear strength)
4231
4.9 4.11
4.10
4.12
(flocculation)
CHPT 12,5 8



59

1521 05 6.56+0.36, 6.49+0.3, 6.42+0.43
7.56+0.15 mNe 2
CHPT 8 0.5

CHPT 2,5 8

2, 11 3
6.93+0.56, 6.58+0.54, 7.5240.58  6.85+0.94 mN\-Tidg
CHPT 5
1
4.9 (tear index, mN-m2g)
CHPT

(tear index, mN-m2g) +
1%CHPT 2% CHPT 5% CHPT 8% CHPT native
0 6.15+0.23  6.15+0.23  6.15+0.23  6.15+0.23  6.15+0.23
050  6.50+0.26  5.85+0.25  5.95+0.33 ¢ 2.56:0.1~5"> 6.22+0.40
1 6374023  6.20+0.23  6.42+043  7.06+0.59  6.53+0.74
15 6.56+0.36  5.99+0.27  6.17+0.27  6.38+0.71  6.14+0.25
2 6.05+0.19  6.49+0.31  6.22+0.45  587+046  6.94+0.71
3 6.24+0.17  5.89+0.32 5924037  491+0.22  6.64+0.48
* native
% CHPT (- -2 )

%




2

tear index, mN-m°/g

| b DO CHPT]!
) ]
A

{ =l 8/CHPT

e SHPT

(}
S%CHPT”

]

|

) Natlve‘J

0 0.5 1 1.5 2 2:5 35
% starch on pulp
4.11 (tear index, mN-m2g)
CHPT ) H
4.10 (tear index, mN-m2g)
CHPT
" (tear index, Ni 2g) ¢
1%CHPT 2% CHPT  5%CHPT 8% CHPT native
0 6.15+0.23  6.15+0.23  6.15+0.23  6.15+0.23  6.15+0.23
0.50 6.09+0.18  6.42+029  6.44+027  6.36+0.33  6.22+0.40
1 6.3+0.33  6.58+054 Cj.52+0.58") 6.55+0.21  6.53+0.74
15 6.66+2.98  6.140.27 5754055  6.45+0.39  6.14+0.25
2 6.93+056  6.15+041  556+0.34  6.62+0.91  6.94+0.71
3 6.47+0.16  6.39+0.34  6.6+125  6.85+0.94  6.64+0.48
* native
% CHPT -2- )

60



g . 7.5210.58
(r@ 6 — <= 1%CHPT
+ 5-
E — »  2%chpt!
,6 ‘- A B%CHPT
< 3-
EB 7 . — 8%CHPT
l - —_ Native
0 -
05 1 15 2 25 3 35
% starch on pulp
4.12 (tear index, mN-m2g)
CHPT 1] ()
42.3.2
411 4.13
4.12 4.14
CHPT
1,25 8
05 15 2 0.5 6.31+0.51, 6.68+0.36, 6.370.31 6.9920.53
. yg
CHPT 8 0.5
411 4.13

CHPT 1,25 8
2, 1, 1 3 71.36+0.63, 7.2710.65, 6.56%0.76

5.78+0.59 mN m2g



1

CHPT
411
CHPT
%
1% CHPT
0 6.15+0.23
0.50 6.31+0.51
1 5.8+0.78
15 6.01+0.4
2 5.75+0.26
3 5.63+0.18
*CR
% CHPT

2% CHPT
6.15+0.23
6.11+0.28
6.23+0.32
6.68+0.36
6.09+0.34
5.88+0.56

(tear index,

%)

(tear index, mNm2g) + D

5% CHPT
6.15+0.23
5.99+0.46
6.33+0.67
5.8+0.31
6.37+0.31
6.13+0.36

8% CHPT
6.15+0.23
(16.99+0.53")
6.59+0.3
6.55+0.49
6.53+0.29
6.38+0.42

CR
6.15+0.23
6.69+0.4
5.96+0.12
6.28+0.29
6.14+0.33
5.94+0.19

62



2

| = 1%CHPT,

a2
B ,
; % 5 ~——&8—— 2%CHPT}
8o | ——k— 5%CHPT|
2 ;‘
5 3 | —o— g%CHPT|
| o |
2 4 —
! Peree S = 0 4
14
0 i
!

|
} 0 0.5 1 1.5 2 25 3 35
| % starch on pulp

413 (tear index, mN-m2g)
CHPT ()

? 412 (tear index, N-mVg)
CHPT

(tear index, N-m2g) +
1%CHPT 2% CHPT 5% CHPT 8% CHPT CR
0 6.15+0.23  6.15+0.23  6.15+0.23  6.15+0.23  6.15+0.23
050 ¢J.36+0.&T) 7.22+0.7  6.03+0.67 578059  6.69+0.4
1 7344059  7.2740.65  5.08+0.52  5.29+0.35  5.96+0.12
15 6.75+0.59  5.68+0.61  6.56+0.76  522+054  6.28+0.29
2 1224048  6.18+0.97  6.4+0.69 5.14+0.4  6.14+0.33
3 6.87+0.22  591+04  562+0.28  5.06+40.43  5.94+0.19
*CR
% CHPT (- 2 )

%



64

7k 736 +0.63
/’x‘q_
S E—’—'1%CHPT
g . . ‘2%CHPTE
g | '3
E 4 J A 5%CHPT
§ 3 | —— 8%CHPT|
; 2 !‘—*'—'CR
2 : -
O-—— T
0 0.5 1 15 2 25 3 35
% starch on pulp
414 (tear index,  « 20
CHPT ! ()
424 (burst strength)
424.1
4.13 4.15
4.14 4.16
2

CHPT 125 8
2,32 2 1.97+0.05, 1.98+0.04, 1.81+0.2



65

1.72+0.04 kPa m2g CHPT 2
3
CHPT 2,5
8 2,152 3
2.01+0.06, 1.84+0.02, 1.85£0.07  1.93+0.15 kPa-m2g
CHPT 2 15
2
4.13 (burst index, kPa-m2g) '
CHPT

(burst index, kPa-ma2g) +
1%CHPT 2% CHPT ~ 5% CHPT 8% CHPT Native
0 1974013 197+0.13  1.97+0.13  1.97+0.13  1.97+0.13
0.50 1924003  183+0.11 1754005  1.65+0.05  1.49+0.67
1 1944003  1.83+0.05  177+0.1 1.65+0.05 1.8+0.14
15 1.92+0.08  1.8+0.05  1.73+0.03  1.67+0.05 1.740.1
2 1.92+0.16 C 198+0.04”» 1.69+0.05  1.72+0.04  1.79+0.11
3 1.9740.05  18+0.11 181402 169005  158+0.31
* native
% CHPT (- 2 )

%



2

burst index, kPa-m“/g

1.98 +0.44

g B 2%CHPT
' A 5%CHPT!
| i

1 < — ; |
i | =@ 8%CHPT;
| N | ?

o : ]—*‘—Natwe !

i l

0 + T T

0 0.5 1 1.5 2 2.5 3 35
% starch on pulp

4.15

414

(burst index, kPa-m2g)
CHPT ()

(burst index, kPa-m2g)
CHPT *

(burst index, kPa-m2g) £

%

0.50
1
15
2
3
* native
% CHPT

1%CHPT 2% CHPT 5% CHPT 8% CHPT Native
1974013 1974013 197+0.13  197+0.13  1.97+0.13
159+0.19  184+0.04  181+0.04  1.86+0.04  1.49+0.67
1.68+0.13 1.7+0.2 168+0.08  1.83+0.05 1.8+0.14
197+0.88  184+0.02  158+0.14  1.83+0.05 1.740.1
201t00IT) 1774005  1.85+0.07  192+0.1 1.79+0.11
1874009  1.8+0.24  161+0.34  193+0.15  1.58+031

66



201 40.06
y'd

0
05 1 15 2 25 3 35
% Starch on pulp
4.16 (burst index, kPa-m2g)
CHPTt
4.24.1 ,
4.15 4.17
4.16 4.18

CHPT 1,25 8
05, 1505 15
1.47+0.12 1.44+0.11 kPae 2
It CHPT 2 1.5

¢-— 1%CHPT

wv
2% CHPT

5%CHPT

“ 8%CHPT

* - Native

67

1.61+0.09,1.68+0.18,
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CHPT 125 8

05, 05, 05 15
1.73+0.2, 1.56+0.03, 1.65£0.02  1.62+0.1 kPanV\Vg
CHPT 1
0.5
2
4.15 (burst index, kPa-m2g)
CHPT

(burst index, kPa-mag) +
1% CHPT 2% CHPT 5% CHPT 8% CHPT CR
0 1974013 1.97+0.13  197+0.13 1974013  1.97+0.13
0.50 1.61+0.09  1.55+0.09 147+0.12  1.42+0.13 1.34+0.09
1 146+0.12  154+0.08 1464012  1.42+0.13 1.3+0.03
15 149+0.09 C~J.68+0.18") 1.38+0.08  1.44+0.11 1.3+0.14
2 141+0.05  145¢011 1364003  129+0.07  1.31+0.15
3 1324005 1354011 1244006  1.31+0.05  1.12+0.04
*CR
% CHPT (- -2 )

%
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? 68+0.
lN) 2 &g - /i‘f = -~ 1%CHPT

— d— 2%CHPT

5%CHPT

p il 8%CHPT
, ;
| — *— CR
0 05 -
0 i — T
05 1 5 2 25 35
% starch on pulp
417 (burst index, kPa-m2g) ,
CHPit ()
4.16 (burst index, kPa-m2g)

CHPT

(burst index, kPa-m2g) +
1%CHPT 2% CHPT 5% CHPT 8% CHPT CR
0 971013 197+0.13  197+0.13 1974013  197+0.13
050 Cj.73£0.27) 156+0.03  165+0.02  155+0.15  1.34+0.09
1 1.5+0.05 154002  156+0.06  1.61+0.02 1.3+0.03
15 14340.04  1.49+0.07 1524007 162401 1.3+0.14
2 145+40.05  149+0.11  149+0.06  153+0.05  1.31+0.15
3 1294006  1.31+0.06  137+40.03  1.5+0.07 1.12+0.04
*CR
% CHPT (- -2 )

%




10

25 e
! 1.7340.2
2 ¥ / —] z
= | = 1%CHPT |
£ i
& 45 - | b 294CHPT
B | A S%CHPT
© i k
£ 1 |
o —&— 8%CHPT|
2
3 |
<2 05 | emelffomee CR
L
0 T I
0 05 1 15 2 2.5 3 35
% starch on pulp !
N
418 (burst index, kPa-mag)
CHPf (),
4.2.5
L] 1

422 424

CHPT 2 8 0.5-1.5



[

CHPT
CHPT g 1
(157+10.8 N CHPT 2

1 (155+2.36 N CHPT

) 15 (154+4.71 N)
CHPT g 15 (123+6.6 N)

417 4,19
CHPT
418 4.0

CHPT 8

)

4.19

421



12

417 ()
CHPT
. ()+D
0
cat2% CHPT cat8% CHPT am2% CHPT am8% CHPT  CR
0 118+0 11840 11840 11840 11840

0.50 149+17 118+0 13141131 1444471 96+2.31
1 1554236 103+4.04  144+13.12 (J57£10.8")  108+0
15 144+16.67  12346.6 154+471 15741225  108+8.12

* CR . cat , am
% CHPT 0y, 2 )
250 — NN
‘ 157 + 10.8 :
200 - : / i—o—catCRz%CHFfr
s ! —&— am CR 2%CHPT

| = &= cat CR 8%CHPT

—

~=®— amCR 8%CHPT

100 +—

|
—¥—CR
50 |

flat crush of corrugating medium(N)

% starch on pulp

419 (N)



418 ! N
CHPT 8
! (N) £
cat8% CHPT am8% CHPT
0 118+0 118+0
0.50 159+10.27 196+8.16
1 149+16.5 Cj99z14,
15 160+4.71 196+14.14
* cat ,am
% CHPT (+ )
’ ~ 250
= 199 +4.71
§
B 200 +———— — 7 ;
“e’ 7 ?i
o V/’\4 L —&— cat st %CHPT ||
é 100 E = am st 8%CHPT !
5 L |
ﬁ 50 =
g o o/
0 05 1 15 .
% starch on pulp

4.20 N

13



4.19 N

' (N) +
% starch CR
cat8% CHPT am8% CHPT cat8% CHPT am8% CHPT
0 118+0 118+0 118+0 11840 11840

0.50 159+10.27  196+8.16 118+0 144+4.71 96+2.31
1 149+16.5 CJ99+4jTh  103+4.04  157+10.8 108+0
15 160+4.71  196+14.14 12366  157+1225  108+8.12

*CR , cat ,am

% CHPT (- -2- )
y 250 199+4.71
% 200 } cat t8Y%CHPT
gE:D 150 - am & 8%CHPT

100 - cat CR 8%CHPT

4%_ 5 amCR8Y%CHPT
o 0 N ; 1

0.5 1 15
% starch on pulp

421 N



426

CHPT

CHPT

9
CHPT ()
CHPT( )
426.1
420  p-value
/ o
B)
0.3053 0.0048
0.7640 0.0000
0.0000 0.0000
0.0000 0.0000
4.20
95 (p-value < 0.05)
95 (p-value < 0.05)

one-way ANOVA

two - way ANOVA

0.6377
0.6634
0.0604
0.0031

95 (p-value < 0.05)
CHPT



2
4.26.2
421 p-value
/ A

0.0015
0.0384
0.0340
0.0011

421

valug < 0.05)

95 (p-value > 0.05)
CHPT

%

CHPT

8
0.0206
0.1067
0,0000
0.0000

p-value

CHPT

16

%

9%

A B

0.0000
0.0020
0.1221
0.0002

9% (p-



%

9%

42.6.2

422 p-value

0.1613
0.0283
0.0000
0.0000

1

95 (p-value > 0.05)
CHPT
one-way ANOVA
2
9
CHPT A B
()6
0.0000 0.0888
0.0000 0.0022
0.0000 0.2271
0.0000 0.0119



9%

4.22 p-value

95 (p-value > 0.05)
CHPT

95 (p-value < 0.05)
CHPT

9 (p-value < 0.05)
CHPT

one-way ANOVA
2
9%

%
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9

42.6.2
423  p-value
/ A CHPT A B
()@
0.7409 0.0000 0.1102
0.0106 0.0000 0.5204
4.22 p-value
95 (p-value < 0.05) CHPT
95 (p-value < 0.05)
CHPT
95 (p-value < 0.05)
one-way ANOVA
9%

%
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